Total event rate, run 135001500, 1 range readout, zero suppression ON
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GemDeltaEventTime*0.05, run 135001500, 1 range readout, zero suppression ON
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GemDeltaEventTime*0.05, run 135001500, 1 range readout, zero suppression ON
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time between events, run 135001500, 1 range readout, zero suppression ON
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time between events, run 135001500, 1 range readout, zero suppression ON
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Time between normal event (dt_this >3000 ticks) and next retriggered event
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Time between normal event (dt_this >3000 ticks) and next retriggered event
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Time between retriggered event (dt_this <3000 ticks) and next retriggered event
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Time between retriggered event (dt_this <3000 ticks) and next retriggered event
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